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Let £y and yp be given. Set kK =0
while (t < T) { % Details for step t; — txy1

© For given step length h, compute a local tolerance toli 1

© For given step length h, compute yi1(yx) and yr11(yx). approximations
at time t;; with methods of order p and p + 1
© Compute ESTi1 = [¥it1(¥k) — Yier1(vi)l
Q If ESTi 1 < toly1 % Step is accepted
N ™
® Vit1 = Vkt1(¥k), tkri =t +h, k > k+1

1
e h = max (h,,,;,,, min (,uh, oh (E’-';*';:l) Pl ))

? iffk+1—|—h.‘> T, thEﬂ h: T—f.'k.|_1

otherwise: % Step is rejected
e h=nh/2
e if h < h,i, stop the step length control with a warning, otherwise go to 1.







